

THE SEMI-NORMS ON THE SCHWARTZ SPACE^{*†}

Dan Mu[‡] Changmao Li

(School of Science, Hubei University for Nationalities, Enshi 445000, Hubei, PR China)

Abstract

Let $S(R^2)$ be the class of all infinitely differential functions which, as well as their derivatives, are rapidly decreasing on R^2 . Here we define a kind of semi-norms which is equivalent to the usual family of semi-norms on the Schwartz space $S(R^2)$.

Keywords Schwartz space; semi-norms; equivalent

2000 Mathematics Subject Classification 46A11

1 Introduction

In the recent years, the Schwartz space as well as their application are concerned in many publication ([1-5]). In this paper, we first give the usual family of semi-norms on the Schwartz space $S(R^2)$. A new family of semi-norms is defined, which is based on the operators we constructed.

Using the new family of semi-norms, we can consider the method to discuss the Schwartz space in terms of the sequential theory.

Let I_+^2 denote the set of all two-tuple of non-negative integers. For $\alpha \in I_+^2$, let

$$|\alpha| = \alpha_1 + \alpha_2. \quad (1.1)$$

For a multi-index α and $x \in R^2$, let

$$x^\alpha = x_1^{\alpha_1} x_2^{\alpha_2}, \quad D^\alpha = \frac{\partial^{|\alpha|}}{\partial x_1^{\alpha_1} \partial x_2^{\alpha_2}}. \quad (1.2)$$

The Schwartz space $S(R^2)$ is defined to be the class of all infinitely differentiable complex-valued functions φ on R^2 such that

$$\lim_{|x| \rightarrow \infty} |x^\alpha D^\beta \varphi| = 0, \quad (1.3)$$

for all multi-indices α and β . The space $S(R^2)$ is closed for the differential operators and multiplication by polynomials.

^{*}The work was supported by National Natural Science Foundation (NNSF) of China (11761030), Hubei Provincial Department of Education Science and Technology Research Project (B2015099) and the Doctoral Science Foundation of Hubei University for Nationalities (4148009).

[†]Manuscript received June 27, 2016; Revised July 25, 2017

[‡]Corresponding author. E-mail: bai_mudan@hotmail.com

2 Some Definitions

In this section, we introduce some definitions. Let R^2 be the 2-dimensional Euclidean space.

Definition 2.1 A semi-norm on a vector space V is a map $\rho : V \rightarrow [0, \infty)$ satisfying

- (i) $\rho(u + v) \leq \rho(u) + \rho(v)$ for $u, v \in V$;
- (ii) $\rho(au) = |a|\rho(u)$ for $a \in C$ (or R).

A family of semi-norms $\{\rho_\alpha\}_{\alpha \in A}$ is said to be separate points if

- (iii) $\rho_\alpha(u) = 0$ for all $\alpha \in A$ implies $u = 0$,

where $\alpha = (\alpha_1, \alpha_2)$ are two-tuple of non-negative integers ([1]).

Definition 2.2 Let $f \in S(R^2)$ and $\|\cdot\|_{\alpha, \beta, \infty}$ be defined by

$$\begin{aligned} \|f\|_{\alpha, \beta, \infty} &= \|x^\alpha D^\beta f\|_\infty = \left\| x_1^{\alpha_1} x_2^{\alpha_2} \frac{\partial^{|\beta|}}{\partial x_1^{\beta_1} \partial x_2^{\beta_2}} f \right\|_\infty \\ &= \sup_{x_1 \in R} \sup_{x_2 \in R} \left| x_1^{\alpha_1} x_2^{\alpha_2} \frac{\partial^{(\beta_1 + \beta_2)}}{\partial x_1^{\beta_1} \partial x_2^{\beta_2}} f \right|. \end{aligned} \quad (2.1)$$

Then $\{\|\cdot\|_{\alpha, \beta, \infty}\}_{\alpha, \beta \in I_+^2}$ is the usual family of semi-norms on $S(R^2)$.

Definition 2.3 Let V be a vector space and $u \in V$. Let $\{\rho_\alpha\}_{\alpha \in A}$ and $\{d_b\}_{b \in B}$ be two families of semi-norms on a vector space V where A and B are some index sets. The families of semi-norms are equivalent if and only if they satisfy:

- (i) For each $a \in A$, there exist $b_1, b_2 \in B$ and $C > 0$, such that

$$\rho_a(u) \leq C(d_{b_1}(u) + d_{b_2}(u));$$

- (ii) for each $b \in B$, there exist $a_1, a_2 \in A$ and $C' > 0$ such that

$$d_b(u) \leq C'(\rho_{a_1}(u) + \rho_{a_2}(u)).$$

Definition 2.4 A family of semi-norms $\{\rho_\alpha\}_{\alpha \in A}$ on a vector space V is called directed if for $\alpha, \beta \in A$ and $u \in V$, there exist $\gamma \in A$ and $C > 0$ such that

$$\rho_\alpha(u) + \rho_\beta(u) \leq C\rho_\gamma(u). \quad (2.2)$$

Definition 2.5 Let $f \in S(R^2)$ and $\|\cdot\|_{\alpha, \beta, 2}$ be define by

$$\|f\|_{\alpha, \beta, 2} = \|x^\alpha D^\beta f\|_2 = \left(\int_{R^2} |x^\alpha D^\beta f(x)|^2 dx \right)^{\frac{1}{2}}.$$

Then $\{\|\cdot\|_{\alpha, \beta, 2}\}_{\alpha, \beta \in I_+^2}$ is the usual family of semi-norms on $S(R^2)$.

Definition 2.6 Hölder inequality: Let E be a measurable set of Lebesgue, $x(t)$ and $y(t)$ be measurable functions in E . Then p and q are positive numbers such that $\frac{1}{p} + \frac{1}{q} = 1$, then

$$\int_E |x(t)y(t)|dt \leq \left(\int_E |x(t)|^p dt \right)^{\frac{1}{p}} \left(\int_E |y(t)|^q dt \right)^{\frac{1}{q}}.$$

Minkowski inequality: Let E is a measurable set of Lebesgue, $x(t)$ and $y(t)$ be measurable functions in E , and $p \geq 1$, then

$$\left(\int_E |x(t) + y(t)|^p dt \right)^{\frac{1}{p}} \leq \left(\int_E |x(t)|^p dt \right)^{\frac{1}{p}} + \left(\int_E |y(t)|^p dt \right)^{\frac{1}{p}}.$$

3 The Semi-norms on $S(R^2)$

In this section, we discuss the relations of some semi-norms on $S(R^2)$.

In the following lemmas, we prove the family of semi-norms $\{\|\cdot\|_{\alpha,\beta,\infty}\}_{\alpha,\beta \in I_+^2}$ is equivalent to the family of semi-norms $\{\|\cdot\|_{\alpha,\beta,2}\}_{\alpha,\beta \in I_+^2}$ on $S(R^2)$.

Theorem 3.1 *The families of the semi-norms $\{\|\cdot\|_{\alpha,\beta,\infty}\}_{\alpha,\beta \in I_+^2}$ and $\{\|\cdot\|_{\alpha,\beta,2}\}_{\alpha,\beta \in I_+^2}$ on $S(R^2)$ are equivalent.*

Proof Let $f \in S(R^2)$, then

$$\begin{aligned} \|f\|_{\alpha,\beta,2}^2 &= \int_{R^2} |x^\alpha D^\beta f(x)|^2 dx \\ &= \int_{R^2} \frac{1}{(1+|x|^2)^2} |(1+|x|^2)x^\alpha D^\beta f(x)|^2 dx \\ &\leq \left\| \frac{1}{1+|x|^2} \right\|_2^2 \sup |(1+|x|^2)x^\alpha D^\beta f(x)|^2. \end{aligned}$$

Note that

$$\begin{aligned} |(1+|x|^2)x^\alpha D^\beta f(x)| &\leq |x^\alpha D^\beta f(x)| + |x|^2 |x^\alpha D^\beta f(x)| \\ &\leq \sup_{x \in R^2} |x^\alpha D^\beta f(x)| + |(x_1^2 + x_2^2)x^\alpha D^\beta f(x)| \\ &\leq \|f\|_{\alpha,\beta,\infty} + |x_1^{\alpha_1+2} x_2^{\alpha_2} D^\beta f(x)| + |x_1^{\alpha_1} x_2^{\alpha_2+2} D^\beta f(x)| \\ &\leq \|f\|_{\alpha,\beta,\infty} + \|f\|_{\alpha+2e_1,\beta,\infty} + \|f\|_{\alpha+2e_2,\beta,\infty}, \end{aligned}$$

where $e_1 = (1, 0)$, $e_2 = (0, 1)$. We get

$$\|f\|_{\alpha,\beta,2} \leq C(\|f\|_{\alpha,\beta,\infty} + \|f\|_{\alpha+2e_1,\beta,\infty} + \|f\|_{\alpha+2e_2,\beta,\infty}), \quad (3.1)$$

where $C = \|1/(1+|x|^2)\|_2$.

On the other hand, we know

$$D^\beta f(x) = \int_{-\infty}^{x_1} D^{\beta+e_1} f(x(x_1, t_1)) dt_1,$$

where the symbol $x(x_1, t_1)$ means the replacement of x_1 by t_1 , that is

$$D^\beta f(x) = \int_{-\infty}^{x_1} \int_{-\infty}^{x_2} D^{\beta+e} f(t) dt = \int_{-\infty}^{x_1} \int_{-\infty}^{x_2} \frac{\partial^{|\beta|+2}}{\partial x_1^{\beta_1+1} \partial x_2^{\beta_2+1}} f(t_1, t_2) dt_1 dt_2.$$

Then

$$\begin{aligned} |D^\beta f(x)| &= \left| \int_{-\infty}^{x_1} \int_{-\infty}^{x_2} f(t) dt \right| \leq \int_{R^2} |D^{\beta+e} f(t)| dt \\ &= \int_{R^2} \left| \frac{1}{1+|t|^2} (1+|t|^2) D^{\beta+e} f(t) \right| dt. \end{aligned}$$

By the Hölder inequality, we have

$$\begin{aligned} \int_{R^2} \left| \frac{1}{1+|t|^2} (1+|t|^2) D^{\beta+e} f(t) \right| dt &\leq \left(\int_{R^2} \left| \frac{1}{1+|t|^2} \right|^2 dt \right)^{\frac{1}{2}} \left(\int_{R^2} |(1+|t|^2) D^{\beta+e} f(t)|^2 dt \right)^{\frac{1}{2}} \\ &= \left\| \frac{1}{1+|t|^2} \right\|_2 \cdot \|(1+|t|^2) D^{\beta+e} f(t)\|_2. \end{aligned}$$

Hence

$$|D^\beta f(x)| \leq \left\| \frac{1}{1+|t|^2} \right\|_2 \cdot \|(1+|t|^2) D^{\beta+2} f(x)\|_2.$$

Using the Minkowski inequality, we obtain

$$\begin{aligned} \|f\|_{0,\beta,\infty} &= \|D^\beta f\|_\infty = \sup_{x \in R^2} |D^\beta f(x)| \leq \left\| \frac{1}{1+|t|^2} \right\|_2 \cdot \|(1+|t|^2) D^{\beta+e} f(x)\|_2 \\ &= C \|(1+t_1^2+t_2^2) D^{\beta+e}\|_2 \leq C(\|f\|_{0,\beta+e,2} + \|f\|_{2e_1,\beta+e,2} + \|f\|_{2e_1,\beta+e,2}). \quad (3.2) \end{aligned}$$

Next, consider the relationship between $\{\|\cdot\|_{\alpha,\beta,\infty}\}_{\alpha,\beta \in I_+^2}$ and $\{\|\cdot\|_{\alpha,\beta,2}\}_{\alpha,\beta \in I_+^2}$ where $\alpha \neq (0,0)$:

If $\alpha = (\alpha_1, 0)$ with $\alpha_1 \neq 0$,

$$x^\alpha D^\beta f = \int_{-\infty}^{x_1} (\alpha_1 t^{\alpha-e_1} D^\beta f + x^\alpha D^{\beta+e_2} f)(x(x_1, t_1)) dt_1;$$

if $\alpha = (0, \alpha_2)$ with $\alpha_2 \neq 0$,

$$x^\alpha D^\beta f = \int_{-\infty}^{x_2} (\alpha_2 x^{\alpha-e_2} D^\beta f + x^\alpha D^{\beta+e_2} f)(x(x_2, t_2)) dt_2;$$

if $\alpha = (\alpha_1, \alpha_2)$ with $\alpha_1 \neq 0, \alpha_2 \neq 0$,

$$\begin{aligned} x^\alpha D^\beta f &= \int_{-\infty}^{x_1} (\alpha_1 t^{\alpha-e_1} D^\beta f + t^\alpha D^{\beta+e_1} f) dt_1 \\ &= \int_{-\infty}^{x_1} \left[\int_{-\infty}^{x_2} (\alpha_1 \alpha_2 x^{\alpha-e_1-e_2} D^\beta f + \alpha_1 x^{\alpha-e_1} D^{\beta+e_2} f \right. \\ &\quad \left. + \alpha_2 x^{\alpha-e_2} D^{\beta+e_1} f + x^\alpha D^{\beta+e_1+e_2} f) dt_2 \right] dt_1 \\ &= \int_{-\infty}^{x_1} \int_{-\infty}^{x_2} (\alpha_1 \alpha_2 x^{\alpha-e_1-e_2} D^\beta f + \alpha_1 x^{\alpha-e_1} D^{\beta+e_2} f \\ &\quad + \alpha_2 x^{\alpha-e_2} D^{\beta+e_1} f + x^\alpha D^{\beta+e_1+e_2} f) dt_2 dt_1. \end{aligned}$$

Then

$$\begin{aligned}
 |x^\alpha D^\beta f| &= \left| \int_{-\infty}^{x_1} \int_{-\infty}^{x_2} (\alpha_1 \alpha_2 x^{\alpha-e_1-e_2} D^\beta f + \alpha_1 x^{\alpha-e_1} D^{\beta+e_2} f \right. \\
 &\quad \left. + \alpha_2 x^{\alpha-e_2} D^{\beta+e_1} f + t^\alpha D^{\beta+e_1+e_2} f) dt_1 dt_2 \right| \\
 &\leq \int_{-\infty}^{x_1} \int_{-\infty}^{x_2} |\alpha_1 \alpha_2 t^{\alpha-e_1-e_2} D^\beta f| dt_1 dt_2 + \int_{-\infty}^{x_1} \int_{-\infty}^{x_2} |\alpha_1 t^{\alpha-e_1} D^{\beta+e_2} f| dt_1 dt_2 \\
 &\quad + \int_{-\infty}^{x_1} \int_{-\infty}^{x_2} |\alpha_2 t^{\alpha-e_2} D^{\beta+e_1} f| dt_1 dt_2 + \int_{-\infty}^{x_1} \int_{-\infty}^{x_2} |t^\alpha D^{\beta+e_1+e_2} f| dt_1 dt_2 \\
 &= \alpha_1 \alpha_2 \left\| \frac{1}{1+|t|^2} \right\|_2 \cdot (\|(1+|t|^2)t^{\alpha-e_1-e_2} D^\beta f\|_2 + \|(1+|t|^2)t^{\alpha-e_1} D^{\beta+e_2} f\|_2 \\
 &\quad + \|(1+|t|^2)\alpha_2 t^{\alpha-e_2} D^{\beta+e_1+e_2} f\|_2).
 \end{aligned}$$

By Definition 2.5 and the above inequality, we have

$$\begin{aligned}
 |x^\alpha D^\beta f| &\leq \alpha_1 \alpha_2 \left\| \frac{1}{1+|t|^2} \right\|_2 \left[\|f\|_{\alpha-e_1-e_2, \beta, 2} + \sum_{j=1}^2 \|f\|_{\alpha-e_1-e_2+2e_j, \beta, 2} \right. \\
 &\quad \left. + \sum_{\{r_1\} \in M_{\alpha,1}} \left(\|f\|_{\alpha-e_{r_1}, \beta+e_{r_2}, 2} + \sum_{j=1}^2 \|f\|_{\alpha-e_{r_1}+2e_j, \beta+e_{r_2}, 2} \right) \right. \\
 &\quad \left. + \|f\|_{\alpha, \beta+e_1+e_2, 2} + \sum_{j=1}^2 \|f\|_{\alpha+2e_j, \beta+e_1+e_2, 2} \right].
 \end{aligned}$$

Then

$$\begin{aligned}
 \|f\|_{\alpha, \beta, \infty} &= \sup |x^\alpha D^\beta f| \\
 &\leq C' \left[\|f\|_{\alpha-e_1-e_2, \beta, 2} + \sum_{j=1}^2 \|f\|_{\alpha-e_1-e_2+2e_j, \beta, 2} \right. \\
 &\quad \left. + \sum_{\{r_1\} \in M_{\alpha,1}} \left(\|f\|_{\alpha-e_{r_1}, \beta+e_{r_2}, 2} + \sum_{j=1}^2 \|f\|_{\alpha-e_{r_1}+2e_j, \beta+e_{r_2}, 2} \right) \right. \\
 &\quad \left. + \|f\|_{\alpha, \beta+e_1+e_2, 2} + \sum_{j=1}^2 \|f\|_{\alpha+2e_j, \beta+e_1+e_2, 2} \right], \tag{3.3}
 \end{aligned}$$

where

$$C' = \left\| \alpha_1 \alpha_2 \cdot \frac{1}{1+|t|^2} \right\|_2.$$

(3.1), (3.2) and (3.3) imply $\{\|\cdot\|_{\alpha, \beta, \infty}\}_{\alpha, \beta \in I_+^2}$ and $\{\|\cdot\|_{\alpha, \beta, 2}\}_{\alpha, \beta \in I_+^2}$ are equivalent. We complete the proof.

In the following, we define some operators on $S(R^2)$. And using the operators, we give a family of semi-norms which is equivalent to the usual family of semi-norms on $S(R^2)$. Let

$$A_j = \frac{1}{\sqrt{2}} \left(x_j + \frac{\partial}{\partial x_j} \right), \quad A_j^+ = \frac{1}{\sqrt{2}} \left(x_j - \frac{\partial}{\partial x_j} \right), \quad \text{for } j = 1, 2.$$

Then for $f, g \in S(R^2)$, using (1.3), we get

$$\begin{aligned} (A_j^+, f, g)_2 &= \int_{R^2} \left[\frac{1}{\sqrt{2}} \left(x_j - \frac{\partial}{\partial x_j} \right) f \right] \cdot g dx \\ &= \int_{R^2} \frac{1}{\sqrt{2}} x_j \cdot f \cdot g dx_j - \int_{-\infty}^{+\infty} \frac{1}{\sqrt{2}} g \cdot \frac{\partial f}{\partial x_j} dx_j \\ &= \frac{1}{\sqrt{2}} \int_{R^2} x_j \cdot f \cdot g dx_j + \frac{1}{\sqrt{2}} \int_{R^2} f \frac{\partial g}{\partial x_j} dx_j \\ &= \int_{-\infty}^{+\infty} f \cdot \left[\frac{1}{\sqrt{2}} \left(x_j + \frac{\partial}{\partial x_j} \right) g \right] dx_j = (f, A_j g)_2. \end{aligned}$$

Thus

$$(A_j^+ f, g)_2 = (f, A_j g)_2, \quad j = 1, 2,$$

where $(\cdot, \cdot)_2$ is the L^2 -inner product.

For each j with $1 \leq j \leq 2$, set

$$N_j = A_j^+ A_j \quad \text{and} \quad N_j^k = N_j(N_j^{k-1}), \quad k = 1, 2, \dots,$$

where N_j^0 is the identity operator. Now, we can get the conclusion that the Schwartz space $S(R^2)$ is closed for the differential operators and multiplication by polynomials, and is also closed for the differential operators N_j^k ($j = 1, 2; k = 0, 1, \dots$). It is easy to show that for $f, g \in S(R^2)$,

$$(N_j^k f, g)_2 = (f, N_j^k g)_2, \quad k = 0, 1, \dots$$

For a multi-index $\beta = (\beta_1, \beta_2) \in I_+^2$, we define an operator $(N+1)^\beta$ by

$$(N+1)^\beta = (N_1+1)^{\beta_1} (N_2+1)^{\beta_2}.$$

Then for $f, g \in S(R^2)$,

$$((N+1)^\beta f, g)_2 = (f, (N+1)^\beta g)_2.$$

Here we define a family of semi-norms on $S(R^2)$. Let

$$\|f\|_\beta = \|(N+1)^\beta f\|_2 \quad \text{for } f \in S(R^2).$$

Then $\{\|\cdot\|_\beta\}_{\beta \in I_+^2}$ is a directed family of semi-norms on $S(R^2)$.

Next we prove the families of semi-norms $\{\|\cdot\|_\beta\}_{\beta \in I_+^2}$ and $\{\|\cdot\|_{\alpha, \beta, 2}\}_{\alpha, \beta \in I_+^2}$ are equivalent on $S(R^2)$.

Theorem 3.2 *The directed family of semi-norms $\{\|\cdot\|_\beta\}_{\beta \in I_+^2}$ is equivalent to $\{\|\cdot\|_{\alpha, \beta, 2}\}_{\alpha, \beta \in I_+^2}$ on $S(R^2)$.*

Proof For $f \in S(R^2)$,

$$\|f\|_{\beta}^2 = \|(N+1)^{\beta} f\|_2^2 = ((N+1)^{\beta} f, (N+1)^{\beta} f)_2,$$

where $\beta = (\beta_1, \beta_2) \in I_+^2$. By the induction, we prove

$$\|f\|_{\beta}^2 = \|(N_1+1)^{\beta_1} (N_2+1)^{\beta_2} f\|_2^2 = \sum_{\beta' + \beta'' \leq 2\beta} C_{\beta', \beta''} \|f\|_{\beta', \beta'', 2}^2, \quad (3.4)$$

where $2\beta = (2\beta_1, 2\beta_2)$, $C_{\beta', \beta''} > 0$, $\|\cdot\|_{\beta', \beta'', 2}$ is given in Definition 2.5,

$$\|f\|_{\beta', \beta'', 2} = \left[\int_{R^2} |x^{\beta'} D^{\beta''} f|^2 dx \right]^{\frac{1}{2}}.$$

(i) If $\beta = (0, 0)$, then $\beta' = (0, 0)$, $\beta'' = (0, 0)$ and

$$\|f\|_{\beta} = \|f\|_2 = \|f\|_{0,0,2}.$$

That is, (3.4) holds for $\beta = (0, 0)$.

(ii) If $\beta = e_j$ ($j = 1, 2$), that is $\beta = (1, 0)$ or $\beta = (0, 1)$, then we have such cases:

$$\beta' = 2e_j, \quad \beta'' = (0, 0); \quad \beta' = e_j, \quad \beta'' = (0, 0); \quad \beta' = e_j, \quad \beta'' = e_j;$$

$$\beta' = (0, 0), \quad \beta'' = (0, 0); \quad \beta' = (0, 0), \quad \beta'' = e_j; \quad \beta' = (0, 0), \quad \beta'' = 2e_j.$$

Here we consider the case $\beta = e_1 = (1, 0)$. For $\beta = (1, 0)$,

$$\begin{aligned} \|f\|_{\beta}^2 &= \|(N_1+1)f\|_2^2 = ((N_1+1)f, (N_1+1)f)_2 \\ &= \frac{1}{2} \left[(x_1^2 f, x_1^2 f) + 2(x_1 f, x_1 f)_2 + 2 \left(x_1 \frac{\partial f}{\partial x_1}, x_1 \frac{\partial f}{\partial x_1} \right)_2 \right. \\ &\quad \left. + (f, f)_2 + \left(\frac{\partial f}{\partial x_1}, \frac{\partial f}{\partial x_1} \right)_2 + \left(\frac{\partial y}{\partial x_1^2}, \frac{\partial y}{\partial x_1^2} \right)_2 \right] \\ &= \frac{1}{2} \left[\|x_1^2 f\|_2^2 + 2\|x_1 f\|_2^2 + 2 \left\| x_1 \frac{\partial f}{\partial x_1} \right\|_2^2 + \|f\|_2^2 + \left\| \frac{\partial f}{\partial x_1} \right\|_2^2 + \left\| \frac{\partial^2 f}{\partial x_1^2} \right\|_2^2 \right] \\ &= \frac{1}{2} \|f\|_{2e_1, 0, 2}^2 + \|f\|_{e_1, 0, 2}^2 + \|f\|_{e_1, e_1, 2}^2 + \frac{1}{2} \|f\|_{0, 0, 2}^2 + \frac{1}{2} \|f\|_{0, e_1, 2}^2 + \frac{1}{2} \|f\|_{0, 2e_1, 2}^2, \end{aligned}$$

where 0 in $\|\cdot\|_{2e_1, 0, 2}$ is $(0, 0)$.

By the similar calculation, we can show the equality in (3.4) holds for $\beta = e_2 = (0, 1)$.

Assume equality (3.4) holds for $\beta = (\beta_1, \beta_2) \in I_+^2$, that is

$$\begin{aligned} \|f\|_{\beta}^2 &= ((N+1)^{\beta} f, (N+1)^{\beta} f) \\ &= \sum_{\beta' + \beta'' \leq 2\beta} C_{\beta', \beta''} \left(x^{\beta'} \frac{\partial^{|\beta''|} f}{\partial x_1^{\beta_1''} \partial x_2^{\beta_2''}}, x^{\beta'} \frac{\partial^{|\beta''|} f}{\partial x_1^{\beta_1''} \partial x_2^{\beta_2''}} \right) \\ &= \sum_{\beta' + \beta'' \leq 2\beta} C_{\beta', \beta''} \|f\|_{\beta', \beta'', 2}^2, \end{aligned} \quad (3.5)$$

where $\beta_1, \beta_2 \in \mathbb{N}$.

We discuss the case $\beta + e_j$ ($j = 1, 2$). We consider the case $j = 1$, that is $\beta + e_1$. By $N_1 = A_1^+ A_1$ and $(A_1^+ f, g) = (f, A_1 g)$,

$$\begin{aligned} \|f\|_{\beta+e_1}^2 &= \|(N_1 + 1)(N + 1)^\beta f\|_2^2 = ((N_1 + 1)(N + 1)^\beta f, (N_1 + 1)(N + 1)^\beta f)_2 \\ &= (N_1(N + 1)^\beta f, N_1(N + 1)^\beta f)_2 + (N_1(N + 1)^\beta f, (N + 1)^\beta f)_2 \\ &\quad + ((N + 1)^\beta f, N_1(N + 1)^\beta f)_2 + ((N + 1)^\beta f, (N + 1)^\beta f)_2 \\ &= (N_1(N + 1)^\beta f, N_1(N + 1)^\beta f)_2 + 2(A_1(N + 1)^\beta f, A_1(N + 1)^\beta f)_2 \\ &\quad + ((N + 1)^\beta f, (N + 1)^\beta f)_2. \end{aligned} \quad (3.6)$$

By the assertion (3.5), the third term of (3.6) becomes

$$((N + 1)^\beta f, (N + 1)^\beta f)_2 = \|(N + 1)^\beta f\|_2^2 = \sum_{\beta' + \beta'' \leq 2\beta} C_{\beta', \beta''} \|f\|_{\beta', \beta'', 2}^2.$$

Because of

$$\begin{aligned} \left(\frac{\partial}{\partial x_1} (N + 1)^\beta f, x_1 (N + 1)^\beta f \right) &= \int_{\mathbb{R}^2} \frac{\partial}{\partial x_1} (N + 1)^\beta f \cdot \overline{x_1 (N + 1)^\beta f} dx \\ &= \int_{\mathbb{R}} \left[(N + 1)^\beta f \cdot \overline{x_1 (N + 1)^\beta f} \right]_{-\infty}^{+\infty} \\ &\quad - \int_{\mathbb{R}} (N + 1)^\beta f \cdot \left(\overline{(N + 1)^\beta f} + x_1 \frac{\partial}{\partial x_1} (N + 1)^\beta f \right) dx_1 dx_2 \\ &= - \iint \left[(N + 1)^\beta f \cdot \overline{(N + 1)^\beta f} + x_1 (N + 1)^\beta f \frac{\partial}{\partial x_1} (N + 1)^\beta f \right] dx_1 dx_2 \\ &= -((N + 1)^\beta f, (N + 1)^\beta f)_2 - \left(x_1 (N + 1)^\beta f, \frac{\partial}{\partial x_1} (N + 1)^\beta f \right)_2, \end{aligned} \quad (3.7)$$

and the assertion (3.5), the second term $(A_1(N + 1)^\beta f, A_1(N + 1)^\beta f)$ of (3.6) becomes

$$\begin{aligned} &(A_1(N + 1)^\beta f, A_1(N + 1)^\beta f) \\ &= \frac{1}{2} \left(\left(x_1 + \frac{\partial}{\partial x_1} \right) (N + 1)^\beta f, \left(x_1 + \frac{\partial}{\partial x_1} \right) (N + 1)^\beta f \right) \\ &= \frac{1}{2} \left[(x_1 (N + 1)^\beta f, x_1 (N + 1)^\beta f)_2 + \left(x_1 (N + 1)^\beta f, \frac{\partial}{\partial x_1} (N + 1)^\beta f \right) \right. \\ &\quad \left. + \left(\frac{\partial}{\partial x_1} (N + 1)^\beta f, x_1 (N + 1)^\beta f \right) + \left(\frac{\partial}{\partial x_1} (N + 1)^\beta f, \frac{\partial}{\partial x_1} (N + 1)^\beta f \right) \right] \\ &= \frac{1}{2} \left[(x_1 (N + 1)^\beta f, x_1 (N + 1)^\beta f) - ((N + 1)^\beta f, (N + 1)^\beta f) \right. \\ &\quad \left. + \left(\frac{\partial}{\partial x_1} (N + 1)^\beta f, \frac{\partial}{\partial x_1} (N + 1)^\beta f \right) \right] \\ &= \sum_{\beta' + \beta'' \leq 2\beta} [C_{\beta' + e_1, \beta''} \|f\|_{\beta' + e_1, \beta'', 2}^2 + C'_{0, \beta', \beta''} \|f\|_{\beta', \beta'', 2}^2 + C''_{\beta', \beta'' + e_1} \|f\|_{\beta', \beta'' + e_1, 2}^2]. \end{aligned} \quad (3.8)$$

By the similar calculation, we get

$$\begin{aligned} & (N_1(N+1)^\beta f, N_1(N+1)^\beta f)_2 \\ &= \sum_{\beta'+\beta''\leq 2\beta} (C_{\beta'+2e_1,\beta''}\|f\|_{\beta'+2e_1,\beta'',2}^2 + C_{\beta'+e_1,\beta''}\|f\|_{\beta'+e_1,\beta'',2}^2 + C_{\beta',\beta''}\|f\|_{\beta',\beta'',2}^2 \\ & \quad + C_{\beta',\beta''+e_1}\|f\|_{\beta',\beta''+e_1,2}^2 + C_{\beta',\beta''+2e_1}\|f\|_{\beta',\beta''+2e_1,2}^2). \end{aligned}$$

Hence for $\beta + e_1$,

$$\|f\|_{\beta+e_1}^2 = \sum_{\beta'+\beta''\leq 2(\beta+e_1)} C_{\beta',\beta''}\|f\|_{\beta',\beta'',2}^2.$$

Thus equality (3.4) holds. We can conclude that, there exist a $C_r > 0$ such that

$$C'_r\|f\|_{\alpha,\beta,2} \leq \|f\|_r \leq \sum_{\alpha+\beta\leq 2r} \|f\|_{\alpha,\beta,2}.$$

That is, the family of semi-norms $\{\|\cdot\|_r\}_{r\in I_+^2}$ is equivalent to $\{\|\cdot\|_{\alpha,\beta,2}\}_{\alpha,\beta\in I_+^2}$ on $S(R^2)$. The proof is completed.

By Theorems 3.1 and 3.2, we obtain

Theorem 3.3 *The directed family of semi-norms $\{\|\cdot\|_\beta\}_{\beta\in I_+^2}$ is equivalent to $\{\|\cdot\|_{\alpha,\beta,\infty}\}_{\alpha,\beta\in I_+^2}$ on $S(R^2)$.*

References

- [1] J. Becnel, A. Sengupta, The Schwartz space: tools for quantum mechanics and infinite dimensional analysis, *Mathematics*, **3**(2015),527-562.
- [2] P. Antosik, J. Mikusinski and R. Sikorski, Theory of Distributions. The Sequential Approach, Elsebier Scientific, New york, 1973.
- [3] J.J. Duistermaat, J.A.C. Kolk, Distributions: Theory and Applications, Birkhäuser, Translated by J.P. van Braam, 2010.
- [4] Gexing Yan, Xingchang Liang, The fundamental theorems relative to Schwartz derivative, *Journal of Engineering Mathematics*, **9**:1(1992),57-62.
- [5] Mingquan Wei, Zuoshunhua Shi, Dunyan Yan, On the decomposition of Schwartz function and its applications, *Scientia Sinica Mathematica*, **2**(2016),211-222.

(edited by Mengxin He)